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I 127’s ruling about 5 np» 1 and the pursuant discussion
a 37 9w npt does not alter status of 127p vis-a-vis n»Yn (7"pTp — maintain nYyn-attachment; 9"p7p — don’t get it)
i challenge (7ax5 2, who reported it): x1 mmn — if he slaughters nTin inside, but the onY is outside the city walls
1  or:if he slaughtered before even one of the breads was minimally baked — loaves are not v11p
2 but: if he slaughtered with intent for nmpn/ninty yin — loaves are w1Tp
(a) evidently: a ywa-act is significant enough to lead to 99 (no answer)
ii 2w ’7 27's rule was about Y9 at time of np»1, which an end-step — n%yn can never begin
1 however: that mwn is referring to 519 at time of NY'NY, and he continued and did np» 1 with proper nawnn
iii  challenge (8275 »wx 77): n¥'np should be considered parallel to nonw;
1 and: ®9Y ruled that 5wa ymip that was put on nam loses its Ywa-status (¥ n¥np can make something Y1°9)
2 defense: doesn’t meant that ynmip becomes full 919, but that it can be defined as such n¥np nywa, but not consid-
ered a until mvpn (0T NPoT)
(a) challenge (*wx "7): 89, in defending his position, used 1’p — if it can make others %9, certainly itself
(b) answer: same meaning — not to classify it as 9 (yet); but that it is an M’} which leads to %19
iv  challenge: in re: dispute nnan/nmn’ "1 about sequence of 1MpnY PIN+1INY YIN nawnn. ..
1 (background: n:1 vonar, if he had »nt yin nawnn first, onan still only Y019 and nmn> 1 - H1an)
2 ...no&x dispute is only if different mawnn were in 2 mmay (e.g. vmw 1%t oo for later; 274 120 for yin)
(a) but:in a single act, all agree that it is n27wn nawnn (even T’ " agrees to 9109, regardless of order)
(b) implication: noNw is an N1y which, in and of itself, generates Y19
(i) defense: same as above; at point of np», retroactively becomes %wa (1 nay or 2 mmay)
(if) challenge: if so, in re: nTIN (3:1 MMn), should become Y109 retroactively
1. answer: indeed — "w1p” means it must be burnt, but cannot proceed properly
b suggestion: support found in Xna — %1 always carries n9yn
i doesn’t this mean: even if there was 1"n?
ii  rejection: must mean without 7"
1 challenge: if so, it should be obvious that n%yn still applies
2 rather: it means even if there was 7”071 — but the reference is to an Ny (where n%»yn applies even after 1"n7r1)
(a) challenge: if it is an n%Y, again it is obvious that n%yn still applies
(b) challenge: Rov (if 07 lapsed overnight (w/o np»r), even w/1”n1 the next day, n%yn still attaches) must be nxron
(i) answer: indeed, X290 supports 27— but does xw» as well?
(ii) rejection: 9o doesn’t necessarily support 27
1. explanation: m5n is done actively; perhaps the np» it that follows cannot lift n2’»n; but nawnn may not be
strong enough to harm later 7777t and prevent it from lifting n%yn
¢ suggestion: support found in 2:X n%Yn RNALIN — Y19 in WWTP YWTP carries NYYn
i doesn’t this mean: even if there was 7"n1?
ii  rejection: only if there was no 7”n71; if there was 7”01 — nYyn is lifted
1 challenge: if so, why does Ra>0 state that 19 in 0% DWTp carries no N»yn (msut be with 1”171, else it’s obvious)
2 and: if that’s the case, the Xw1 should’ve distinguished: before 1”n71, there is n%yn; afterwards — no n%»yn
3 answer: indeed, that Xnavin certainly support 27's ruling
(a) suggestion: since 2D supports 19, shall we say that X supports him as well?
(b) rejection: ®w» could be case where there was no np»1 yet;
(i) but: xin presented it as he did because ’5p WP is one consistent rule — no n%yn attaches;
(if) however: in wWTP *wTp, ruling varies; for N9y, nY»yn is never lifted
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